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Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

® Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT” answer. The candidate has to write
the Correct Alternative [ie. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, the write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : VI-A

Full Marks : 20 Time : Thirty Minutes

Choose the correct answer.

Each question carries 1 mark.

1. Grimm’s law is applicable for
(a) Italic language
(b) Greek language
(c) German language
(d) Indo-Iranian language
2. How many divisions are there in Indo-Iranian language?
(a) 3
(b) 5
(c) 7
(d) 8
3. What is the meaning of the word Morphology?
(a) HNTATd
(b) eregaTa
(c) ®9dTT

(d) Hrmrisd

(3)

1x20=20
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4. Which one is the example of Anaptyxis?
(a) afd > safar

@) T>T

5. Select the example where Epenthesis is happened -
(a) IORaH > OfFaH
(b) stafa>aafy
() TN > FO°

d) T > &

6. Who is the author of ‘ehlded SUTehIUT’?

(a) daea
(b) erdaAT
(c) Tegrard
(d) caetedr
7. Who is not a pre-Panini Grammarian?
(2) S9CE
(b) anfaufar
(c) AheT

(d) TP Turn Over
(4)



8. How many ‘3@’ are there in ‘AgTHST"?
(a) 65
(b) 70
(c) 85
(d) 90
9. Who are the authors of ‘&fRIsrgfe?
(a) ST and qTHeT
(b) FIedACE and AdAT
(c) AT and AFRTET
(d) =19 and IRURT

10. What was the time of creation of ‘Fﬁﬁmﬂiﬁ SYTHhIUT’?

(a) 12th century
(b) 14th century

(c) 16th century
(d) 18th century

11. [edmrme 3R - which type of TR is the underlined word?
(a) HUyellH
(b) TFefw

(c) a9
(d) All of these

Turn Over
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12. What do you mean by &§foT in 0T gfacirar?
(a) 3 AT Ry
(b) 37T FATOT gfarcirar
(c) Il JHeferel T hATOT farehrar
(d) AT gfacar

13. Which ending is defined by “Fpc]

" suffix in «ggp?
(a) TYHAT
(b) T

(c) ws&r
(d) FeasT

14, ‘T HIFeT fAeFd” - trace the case - ending.
(a) FESETT Tt
(b) Fret el
(¢) Frgef wqgedf
(d) 3T ST Tt

15. Choose the example of gcaf goaa
(a) FEI T
(b) SEIT deH:
(c) STEI, SaTet

(d) IR T
(6)
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16. By which mentioned rule the ‘3T8ST=T” is defined?

(a) SN TIH

(b) FATATESE TART 3TaSTH
(© MfEFTTESTE

(d) T HeTEAAEAR

17. By which rule ‘3R eI TATH is defined?

18.

(2) IYATATT AT :
(b) farRISoT f3ersaror ages

(c) STUATATEHIONY
(d) 39TAT AN A6

“%TSFI?-IT[’ - mention the name of TATH

(a) HHATEN: cdocd:
(b) FHTER: EfIT:
(c) 3rcgdaHTT:

(d) FETe:

19. Which gerey is Tl in JcTATHTHATH?

(a) &

(b) 31=3:
(c) 3
(d) a7

7))
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20. Mention the name of THTH in 3TYINITH.
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P - III (1+1+1) H/20(N)
2020

SANSKRIT (Honours)

Paper Code : VI-B
[New Syllabus]

Full Marks : 80 Time : Three Hours Thirty Minutes

The figures in the margin indicate full marks.

1. Answer any two of the following questions (write your answer within 400
words): 20%x2=40

(a) Write a note on Non-Aryan influence on Sanskrit.
(b) Explain Grimm’s Law with examples.

(c) Write a note on “3TSeTegTiT".

2. Write informative note on any one of the following within 200 words. 10

IATETAH , T aHATH:
3. Explain any four of the following sutras within 100 words each : 5x4=20
(@) T =
(b) ferardfuee = HAT0 FdTiete:
(c) HEGFAsTUT
(@) 37t TER
(¢) U FEY wSSAT T
(f) 3YATE HHAIT:
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4. Explain any two of the following comments within 100 words each.
5x2=10

(2) ef: TR - AR atafa
(b) BeIHNE ¥Y: - AT aafd
(c) TS e 3l forderne sqererceear qaferdra:

(d) T WrALATGE I T e T ea | g9
gur 3 o eaaaAg: |

( 10 )



